DME: Infrastructure Projects in Wales - Activity Sheet 1

Issues Infrastructure Spending With M4 No M4
1. Put the section title Issues. — —
£ billion £ billion
Profile of Wales
North Wales 20.341 20.341
e Mid & West Wales 5.548 5.548 ’
ol 41031““ b South Wales East 1.758 1.158
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of the UK =5 e South Wales Centra 1.853 1.285
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. 8. Draw a graph to show infrastructure spending in each region;
" with and without the M4 Relief Road.
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N 9. Work out the spending per person for each region: 12.Which areas of Wales have the lowest incomes?
Gross vatus Adud o il e With the M4 Relief Road in South Wales East/Central
e Without the M4 Relief Road in South Wales 13.How does the income across Wales compare to the parts of
cast/Centre England that you can see?

2% 7.8 5 50, o @ . Divide Spending by the Population. 14.Which parts of Wales are the most densely populated?
Work out spending per person in each region show your 15.Which areas of Wales have low incomes and high population
results in a table. densities? (many people with low incomes).

S — Ri-ime smelcyees June 2015 Infrastructure Spending

www.ons.gov.uk o et £ billion | Population Per Person
r nformaton rom Ordnance surver, National Statistics North Wales 20.341 571,500

‘ Mid & West Wales | 5.548 321,000
South Wales East 1.758 641,100

2. What is the difference between weekly earnings in England

and weekly earnings in Wales? South Wales 1.855 722,200 Wf\t'g,/ﬁ ? ‘
Central o ;
3. What is the average for weekly earnings in the UK? S. Wales West 2.918 666,500 Eﬁiﬁl EZ:EE:: E:;:ZEEZ::
. " [ 1 to 5 persons per hectare —
. . Without M4 Relief Road I 5 to 10 persons per hectare & - -
4. What is the average % of unemployment in the UK? I 10 to 20 persons per hectare ;F' R
Il >20 persons per hectare f \.j
S. Wales East 1.158 641,100 ~ " nd R
5. Which country has the highest % of unemployment? i & j
S. Wales Central 1.285 722,200 . AR BT ' : 7
6. Which country has the highest % of disabled people? _ ?;:4‘3 g ] | e BN
R A )
7. Which country do you think is the: 10.Draw a graph to show the spending per person in each - e;::'”]_'
a. Poorest —why? region. S

b. Richest —why?

11.Which areas of Wales have the highest incomes?
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